THEDOBEERICETHERDAR (SFS5E4H1HIRE)

D xHEBEDOERAAE
. RABER | KEBEN | BAE | SHREH
=~ (N) (N) (%) (N)
TROI1EE
(H31.4.112F) 7 2 28.6 0
SH2EE
(;2.4.1?‘2}5!%) 4 57.1 3
SFSEE
(R34 ERE) 8 1 12.5 0
SHAEE
(RA.41ERE) 6 1 16.7 0
SFSEE
(;5.4.1?‘2}%) 9 2 22.2 0
Q@ BEARBOZHREOLEEES
. TREGH | KEERY | BRE | SHEEE
> (N) (N) (%) (A)
ERRS0EE
(H31.41£2F) 19 5 26.3 1
FH1EE
(R2.4132A) 21 28.6 3
SH2EE
(;3.4.1?‘2}%) 14 4 28.6 0
SHSEE
(;4.4.1?‘2}%) 16 3 18.8 0
SHA4EE
(;5.4.1?‘2}%) 15 3 33.3 0
Q BEDOLEEE
. BEAH | BEBE | XEBA | XEBAO
‘x (N) (AN) (N) E4E (%)
(ﬁ?ﬁ?ﬂgg() 202 133 69 34.2
(@Tﬁgg) 202 131 71 35.1
(@%E.?gg‘) 201 133 68 33.8
fff.?gg‘) 189 125 64 33.9
(fﬂfgg) 189 129 60 317
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@ thk (B BBEODLMHES
R &5t BHBE peqicdisd=| ZERE D
= (N) (N) (N) 2E (%)
TRB0EER 2 2 0 0.0
SHTEER 4 4 0 0.0
SHI2EER 3 1 2 66.7
SHIEER 4 2 2 50.0
SHAEER 2 1 1 50.0
® BEI10OFIFEABEDHGEREES
EE =1 BB E pedicdig=| ZHBED
= (AN) (N) (AN) ZE (%)
';';%%g 65 46 19 29.2
56 thigBE & 6 3 2 33.3
SHikRTEAE 60 43 17 28.3
*‘*'ﬁﬁﬁgué 92.3 935 89.5
® BLAIBERIAERGE
R ZAuEE BERE TR E BHREE | TEIRGEER
= (AN) (N) (AN) (%) (%)
FRBOERE 4 3 1 0.0 100.0
TH31EE 8 6 2 0.0 100.0
SH2EE 4 2 2 0.0 100.0
SHBERE 6 5 1 0.0 100.0
SHAERE 6 3 3 0.0 100.0
@n1 BB DOEBE HEARERIEGER
ERE ZYES | EHINEEE mEE
= (N) (N) (%)
TH30EE 6 4 66.7
TR31EE 3 2 66.7
SFN2EE 6 5 83.3
SFBERE 2 2 100.0
SFNAERE 3 3 100.0
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@02 Bit#E D E RS IMAKRIGE

L BLUET |BHRBBE| IEE
(A) (A) (%)
TRHI0EE 3 1 33.3
ERRS1EE 6 0 0.0
SH2FEE 2 0 0.0
SHISEE 5 1 20.0
SHAEE 3 1 33.3
HBENTE DR
e szt — A1 A 7Y F R
(E5 ) 2HhTY | SHEMRE | SHRAETL
ERS0OEE 19,007.0 7.6 10.6 2.5
TRHI1EE 22,862.3 94 12.0 7.8
SH2EE 10,571.0 44 6.3 6.6
SHIEE 17,201.0 8.5 18.5 6.1
SHA4EE 15,319.0 7.6 9.9 1.5
© FERABKEBERG B
R — NSy T E &
A/1~12/31) | 24y | SHEEE | SbEET
ER30EF 9.7 7.3 9.2
ERI1E 8.1 7.7 9.1
SH2F 9.2 6.2 8.5
SHM3E 11.2 9.8 10.2
SH4E 12.3 10.6 13.9
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EEBOZHEES
R EEBAE EHBE EHERE ZHBE | ZTEHERE
= (N) (AN) (%) (N) (%)
TEHS1EE 21 20 95.2 1 48
SH2EE 21 21 100.0 0 0.0
SHISEE 21 21 100.0 0 0.0
SH4EE 20 19 95.0 1 50
SHSEE 20 19 95.0 1 5.0
O EERBEEOBEDODLEEIES (FHSEE)
PaN &t BHREE peqcdisa=| THBED
X%
(N) (N) (N) ZE (%)
EIRER 20 19 1 50
Tt 37 20 17 459
e 38 26 12 31.6
FE 26 17 9 34.6
FE 35 24 11 314
= 31 23 8 258
Z D (FRZ%) 2 1 1 50.0
&&t 189 130 59 31.2
S5 {RfEEM 9 0 9 100.0
SHEHREL 9 0 9 100.0
@ hEFEADOBLHEE
EpE BE&: BHEREE peqcdisa=| THBEED
> (N) (N) (N) ZE (%)
FRELS0EE 0 0 0 0.0
TERS1EE 0 0 0 0.0
SH2EE 0 0 0 0.0
SHISEE 0 0 0 0.0
SH4EE 0 0 0 0.0
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